
On Wednesday , started talking about matrices
Talked about adding (multiplying matrices
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Special 2×2 matrices : (Oo Oo) and [to f)
Say M is any

2×2 matrix

• Mt (oooo] -- M
nm - costs: :H: :H: :]
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• [ to 9) . M = M



Application : can represent systems of equations as
matrix equations .

2x -13g = 10{3×+4y -- H
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This is powerful because some metrics here

an inverse ( B is an inverse of A if AB --%)
and

For example ,
BA -- [to Y))
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So , if we want to solve

1 : :X =

Multiply both sides on the left by [-433) :
f: :X: :X Itf: :X::3
TH
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= f-7g ]
Check : 2/-73+318) = to ✓

3. (-77+418)=11✓



Hard question : Which 2×2 matrices here inverses?

Example: Does [ 'z 24) have an inverse ?

Let's say (Ibd) is its inverse
.

kill : :H:p
E::: :÷⇒ ..



Looking at top row ,
at 2b =/ us a=/ - 2b
Za-146=0

2( I - 2b) -146=0

2-46+46=0 No solution
2=0 Tg



Problem : Second row of matrix is multiple of first
row

.

If this does not happen , then the 2×2 matrix

hes an inverse .


